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- This paper contains Seventy Five (75) multiple-choice questions, each

question carrying TWO (2) marks. Attempt All the questions.
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“Education 1s that Which. makes

child a man” is the idea of :
(A) Vivekananda

(B) Tagore

(C) Gandhi

(D) - Aurobindo

Which school of thinking is most

against parental or societal

intervention into education of

children :

(A) Existentialism
(B) Naturalism
(C) Realism

(D) Pragmatism
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~ According to Jainism, knowledge
18

(A) Inexpressiblé

(B) Intangible

(C) Uncertain

(D) Irrational

Vedant philosophy is :
(A) Bhakti-oriented

(B) Knowledge oriented
(C) Action oriented
(D) Agnostic

Who did not give importance to
socially useful activities as part of

school learning ?
(A) Karl Marx
(B) Gandhiji
(C) Dewey

(D) Rousseau
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The application of the principle of
social equity in education is best
exemplified by :

(A) Providing equal opportunities

to all learners without
discrimination

(B) Providing best opportunities to
all learners as per their needs

and potential

(C) Providing best opportunities to
special learners

(D) Providing best opportunities to
best learners as per their needs

and potential

Resérving some seats for weaker
sections of society in a rich and
privileged schools through RTE is

to encourage :

(A) Equality of educational

opportunities

(B) Depriving good opportunities to

merit students
(C) Sustaining inequalities
(D) Creating greater difficulty to

weaker sections
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10.

| (A)

Community and school enjoy 8.
strengthened linkage through_:

(A) School annual-day function

(B) Students picnic

(C) Examinations

(D) VEC, PTA, MTA

Kasturba Gandhi Balika Vidyalayas 9.

are promoted by :
CTE

(B) GCERT
(C) MHRD

(D) NCERT

Who was the first to give the idea 10.

of a rural university in India ?
(A) Pt. J. L. Nehru
(B) Dr. S. Radhakrishnan

(C) Acharya Vinoba Bhave

(D) Mahatma Gandhi
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(B) GCERT
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11. The contribution of ‘Developmental ~ 11. ‘[sidicus sul’ o Held 519 54

Tasks’ is associated with : 0 7

(A) Havighurst (A) &laoiee
(B) Piaget | B) hwz
(C) Bruner ©) o2

(D) Hurlock g
(D) &rdls

12. Which of the following is not a stage ;. . L
12. % [ad vz dauuil sul

of cognitive development according

b . Phageh ? olElAs (sl dossl <l 7
o J. Piaget .

(A) Sensorimotor A) Slesu—(5u1cHs

(B) Pre-operational (B) 1‘1*@‘“&"13

(C) Operational | (0) Buds

(D) Concrete operational D) 3d BuicHs

13. The chief characteristics of sensori- 13 SFau—[BUlLs Ul You &Sl 54

motor period are : .
. ¢ 7
(A) Development from reflex

A) QB Buidl Ssulsaicis

activity to sensorimotor

situations to problems YR Rafqaidl AR dRs

B C d. t- d_ s t ey =
(B) . Coordination and sensorimotor (B) A% A SheulFuics cd-l

actions
, C) Bysuau-l e Faudl
(C) The first signs of curiosity (e

(D) All the above three (D) Gl ALY

Education—III _ F | [P.T.O.]




14. Gagne’s Hierarchy of learning does

not include :

(A) Signal learning

(B) Stimulus-Response learning
(C) Generalisation

(D) Verbal association

15. The conceptual learning and
development (CLD) model does not
reCOgNISe......uvveeennenn. in concept

attainment.

(A) Concrete level

(B) Identity level

(C) Classificatory level
(D) Abstract level

16. Three-dimensional structure of

intellect model was given by :
(A) Spearman
(B) Thurstone
(C) Guilford
(D) Sternberg
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18.

i 53

Which of the following does not
belong to the set of laws given by

Thorndike ?

(A) Law of exercise

(B) Law of readiness

(C) Law of cause and effect
(D) Law of effect

Principles of classical conditioning

help in :
(A) Bad habits can be
deconditioned

(B) Discouraging good habits

(C) Encouraging fixing all habits

- (D) None of the above

Gagne’s hierarchy of learning does

not include :

(A) Signal learning

(B) Stimulus-Response learning
(C) Random learning

(D) Problem solving
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20. Factors influencing Ieaming are :

(A) Learner factors
(B) Teaéher factors
(C) School faétors
(D) Aﬂ_ of the above

21. Distress can :

(A) De-stress an individual

(B) Develop stresé tolerance

(C) Destabilise an individual

(D) Dissociate stress in

individual

22,
(A) Medical approach
(B) Normative apprbach

(C) Psychosocial approach

(D) All of the above
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Mental health approach includes :

10

20.

21.

22.

BRYYA, Y Sdi WRou)

€.
(A) Adl Yool
(B) 221us yRRoo

(©) wo uRomi

D) GUASA “al Yool

(A) ABdA deysd 531
(B) dwet asHdladl [Qsudl
(C) Al3dq 2Ry 3

(D) AUBdHidl dRidq 92 53]

HiAl[As ey [y,

6.

(A) doflefl 2ileo1y

(B) “lRBUMS [™ay
(©) AUl 2R

D) BUsd AYY




23.

24.

Which one of the following is not

escape oriented mechanism ?
(A) Day dreaming

(B) Escape by illness

(C) Projection

(D) Withdrawal

Type theory of personality focusses

on :

(A) Individual as a whole

(B) Individual as a part

(C)

Typecasting an individual as

good or bad
(D) The skin colour of the person

Which one of the following is not

the goal of mental hygiene ?

(A) Realization of potentialities

(B) Happiness

(C)

Harmonious existence

(D) Frustration tolerance
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26. The purpose of counselling is not

27.

to :

(A)

(B).

(©)

Advise client

Facilitate goal setting by
clients

Selecting one of the options by
the clients |

Make client responsible for his/

her own decisions/choices

Group counselling service means :

(A)

(B)

(&)

(D)

Advising the group.about
desirable issues

Offering possible choices for
common prdblems of group

members

Offering possible choices for

individual problems of

individual members

Providing counselling for the

whole

Education-III
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28. Group guidance services include :

29.

30.

(A)
B)
(C)
D)

Class talk
Career
Workshop

All of the above

The main objective of career

guidance is to :

(A)
(B)

(€

(D)

Orient clients to world of work

Match advise clients’ abilities

to different careers

Educate parents of clients
about which careers of their

children have to prefer

Guide clients to develop

aptitude towards a career

Which of the following is correct ?

(A)

(B)

©

(D)

Guidance is meant for only

problematic clients

Guidance and counselling is

needed by all learners

Counselling is needed by all

but not guidance
All teachers are guidance

teachers

Education—III
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31.

32.

33.

The size of a sample does not

depend upon :

(A) Objectives of a study

(B) Homogeneity of a population

(&)

Types and nos. of variables

(D) Methods to be used for data
analysis

Which hypothesis can be tested

statistically ?
(A) Research
(B) Null

(C)

Directive
(D) Non-directive

What assistance can not be obtained
by framing a hypothesis ?
(A) To decide which type of tool to

use

(B) To know which statistical test

to do

(C)

To write implications

(D) To get idea for sampling
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34.

35.

36.

Which is the symbolic presentation

of null hypothesis ?

B) HyiTy> T,
© Hy:Ty<Ty

D) Hy: Ty = Ty

Qualitative data : Questionnaire : :
Quantitative data @ .............. .

(A) Achievement test

(B) Attitude scale

(C) Aptitude test

(D) All of the above

Which variable(s) is controlled to

study the only effect of treatment ?

(A) Independent

(B) Dependent

(®)

Extraneous

(D) Intervening

Education—III
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37. Which

¥

38.

39.

1s true experimental
design ?
(A)

(B)

Single group design
Two groups randomised subject
only post-test design

(C) Single group pretest post-test

design

(D) Two group static design

Which one is a factor of internal
validity ?
(A) Interaction between groups

(B) Interaction between
independent variable and

pretest
(C) Hothorn effect

(D) Lack of detailed description of
the treatment

Which is historical study ?

(A) Comparison of last five years’
result of Secondary School
Examination Board, Gujrat

(B)

A case
Vidyapith

study of Gujrat

(C) Development of program to
enhance creativity among

students

(D) Effectiveness of educational
software in teaching-learning

process

Education—III
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40.

41.

42.

Discrimination value of an item can
be :
(A)

Positive

(B) Negative

(C)

Zero

(D) All of the above

In service training programmes for
the teachers of elementary schools

in India are to be organized by :
(1) DIET

(2)
(3) Academic Staff College

SSA functionaries
(A) (1) and (2)
(B) (1) and (3)
(C) (2) and (3)
(D) All (1), (2) and (3)

Under SSA, the newly recruited
teachers have to compulsorily
undergo an induction training

programme of how many days ?
(A) 20 days
(B) 30 days
(C) 60 days

(D) 40 days

Education-II1
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43.

44,

45.

The most appropriate reason for

non-popularisation of vocational

education in India is :

(A) Vocational_ education

institutions are less in number

(B)

Vocational education pass outs

do not get a job easily
(C)

It is considered inferior in
comparison to general

education

(D) Vocational education courses

lead to low salary jobs

The university Level Distance  44.

Education Programme was for the

first time started in the world by :
(A) UK

(B) USA

(C) Australia

(D) Netherlands

Which is not a feature of Distance 45

Education ?
(A) Open learning
(B) Radio and TV programmes

(C) Regular attendance

(D) Printed material

Education—III 18
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46.

A school teacher visualizes a
curricular model and implements it.
When educational administrators
come to know of it, they accept it
and implement it in whole of Gujrat.

What is this model known as :
(A) System Analysis

(B) Grass root

(C) Administrative

D)

Demonstration
Which is the example of a syStem
analysis model of curriculum ?

(A) Analysing the performance of

a teacher and then

recommending his/her

promotion

(B) Organising workshop to
examine the positive and
negative aspects

(C) Studying the structure and

functions of all parts of a cycle

(D) Analyzing the shortcomings of

examination system

Education—III
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i uedl adl oladl M2 Hamsl
sl

(B) ss12UMS A AslcHs Wil

sl sar w2 s

i 529,
() s AL otal [Reil-l AL
A silSdiidl veud sl
@) u3lal ugladl Huleld [Asama
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48.

49.

Once all graduate level students
were examined for awarding the
degree only once after completing
three years of study. This is the

example of :

(A) Summative evaluation
(B) Formative evaluation
(C) Annual evaluation
(D) Final evaluation

Which of the following experiences

will be included in the curriculum ?

(1) Fighting of children near a

water tap in the school

(2) Slapping of a student by a

vendor outside the school

(3) Rebuking of a student by a

passenger in a bus to school
(A) None of the above
(B) Only (1)

(C) (1) and (2)

(D) All of the above

Education-III

48.

49.

AR adlHL 2o ol uedl ual
HE HIA A5 % avd [Qenylaiidg
Ulael scUml U9 — i Hedl Ul
Gelsral 7

A) Auslad yeuis-

(B) UALHS YeuisH

(C) aAlls yeuis-

(D) ildH yeuisq

il sl vl veqAsHU
AHLAUHL 21d 8§ ?

(1) el 4q wd 4s1s sl
[Qenela)

2wl o 1S 3RUL gl

[Qengld dml e

(3) wWwouA uadl ol SIS Yus

[Qenella 200l sus
(A) GuHIl dsyR Al
(B) Hl (1)
(&) .(1) A (2)

(D) GUAl w&L %




50.

51,

The purpose of criterion referenced

test is to :

(A) Assess the mastery level

learning of learners

(B) Compare a learner’s
performance with another

criteria

(C) Compare a learner’s

performance with other

learners

(D)

Develop criteria of a standard

test

Best leadership style for an

educational institution is :
(A) Person oriented
Performance oriented

(B)

Person and performance

(C)

oriented

(D) System oriented
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21

yas—Aeel sAdHL &g 4 O 7

(A) wAdirL piee-l Fyeidl said
Hlud 59

I(B) N5 wAAA Rilad 2 4as
ald wvuadl

©) s weddidl e ol
el Rz wd wviadl

@) wulaeid suLEl M2 Hikls
CECIEET

AalRls WAl “2 G Al Adl

.......... 8.

(A ald 2wy

B) s 2w

(©) Al A 510 At

M) uudl wiaym
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93.

o4,

Educational administration
involves :

(1)
(2)
(3)
(4)

(A)

Humanitarian approach
Bureaucracy

Leadership and motivation
Personality assessmént

(1), (2) and (3)

(B) (1), (2), (3) and (4)
(C)

(D)

(2), (3) and (4)

(1), (3) and (4)

Generally which leadership style is
least productive ? |

(A) Democratic

(B) Autocratic

(C) Laissez-faire

(D)

Semi-democratic

Which is not the part of institutional

planning ?

(A) Budgeting

(B) Organisation of human
resources |
(C) Setting of goals and targets
(D) Interpretation of PTA
meetings
Education—III
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93.

Ja@s A1 A AHA 2

0.

Hidddlalel 21[6414
AHALIR WL
ARl 24 A3
A[sdcd HIYA

(1), (2) 2 (3)
(1), @), 3) > (@)
1), 3) ¥ (4)
D) (1), (3) ¢ (4)

AMLY Ad 59 Al Adl 206

Geules 9 7
(A) disadl
(B) luvealldl
(€) AR

(D) e disaiel

sul A8 il [0 w2l ?
(A) ozl
(B) MlAdlidid il
(C) HYl A gl [Fsy-

(D) PTA &0l nedye




55.

56.

57.

Supervision 1s : - bBb.

(1) A service activity

(2) A process

(8) A function

(4) An educational leadership
(A) (1), (2) and (3)

(B) (2), (3) and (4)

(©) (1), (2), (3) and (4)

D) (1), (2) and (4)

A test, which is also a technique,
16

(A) Interview

(B) Questionnaire

(C) Adjustment inventory

(D) Semi-projective test

One of the_following is not the
method of estimating reliability in
single test administration ?

(A) KR 20

(B) KR 21

(C) Chronbach Alpha

(D) Test Retest

Education—III : 23
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w[aa9
1 Aasla ugl
@) sl A5 wEul
3) s w5 s
4) §L&t[@t§ A
A) (1), (2) ¥4 (3)
B) (2), (3) 1 @)
©) (D), @), 3) ¥ (@)
D) (1), (2) 1 @)
......... s uyBd el 6.
Yalsid

uiruq_[ét

ALt AlalAst

e uduLl sl

A5
5§ Rsaudladl wenfud 53 wsidl
ol ?

Quid sl At 1A Usl

(A) KR 20

(B) KR 21

(C) $l-6ls BUEsL
D) sl Y5418l
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98. Item analysis does not include : 58. SAY YUSSIVYML ......... Al AHd

ddl el
(A) Item discrimination

(A) $4Y, ®Mgyvidl
(B) Norms

(B) HUisl

(C) Distractor analysis | e
(€) [asdlsid yussawl

(D) Difficulty level D) 5&ldl S8

59. Which one of the following is not 59. 1A Ul siol Hidiswi usiz el ?

a kind of a norm ? (A) ulasa

(A) Percentile | (B) i

(C) Age
(D) AdHL/estall

(D) Percentage - .
60. ....... Hi slAL dLdisld UM

60. Conversion of raw scores to o .
Yidisiil wRadd s 9.

standard scores is a must in :

(A) ola sAli
(A) Intelligence tests

(B) Aldc suidlil
(B) Personality tests _ '

_ C) ddsl MU sHL >0
(C) Attitude tests (

@) Aptitede fests D) oydl sAdi

Education-III : 24




61.

62.

“Microteaching is a scaled down
teaching-encounter in class size and

class time” is the observation of :

(A) Flander Ned A

(B) Eve A.W.

(C) Clift, J.C.

(D) Allen, D.W.

An approach to give the “best-
equipment in the best place for the
best people at the best-time and at
the

best price”, is known as :
?

(A) Integrated approach

(B) Software approach

(®)

System approach

(D) Hardware approach

Education—III
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62.

ey wEud v adlvisd se e
aof—dia-l @y 23l ddl xeULuA
gedl 877 il [l sid o 7
(A) $A-52, S

(B) €4, . soiey.

©) [Base, %.4dl.

D) Add, Sl. seey.

Gy ABd2il M G uMA A

Gad [FHd GdH oddle GdH
Al usiAsdl’? A vl

sul Ayl wtaviy 9 7

(A) iduldd e

(B) isedr uil™am
(C) weudl nAleom
D) &15a w1y
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63.

Read the following paragraph and
answer the question nos. 63 to 65

given below it :

Quite contrary to Maieutic theory,
the communication theory of
teaching believes that the child has
nothing with her like forgotten
knowledge or inherent capacities
which needs to be reproduced or
unfold through teaching. That is
why what is given to her in terms
of knowledge, skills, attitudes or
interests are always affected from
outside. It is not the child but the

teachers who are pre-equipped with

knowledge and skills at the time of _

teaching and it is their duty to
communicate same by adopting
proper methods to the child for her

welfare and development.
According to Maieutic theory :

(A) Teaching helps a learner recall
innate knowledge

A child has nothing like
‘forgotten knowledge’

(B)

(C) Knowledge is always given

from outside
(D) Communication theory is a

contradictory theory

Education-III
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63.

(Al uRae il uae . 63 ]
65 L Gl aul :

quiles Rugiddl ded [Rgnl,
AR UAL U U] Al 8 3
I glRL ¥ Yrodold ¥ usledd
534 US dq odld adg A 3
AR B ¥ Qe 59 Sid
Aol 20l A osud, sladl, e
UL AUHL ¥ 55 2] A B
d el o scUHL 20 B, v
st 93 Wyl suasl ¢l uig
[Qast o st 2 Slaelell 1w Sy
8. [esi-l 2 5% 8 % euasi-i
SR A (A5 w2 s A
Sladly dod ugl glal ounsl

MU 59,

QuiRs Mugid 2duR =

A) suasini »aliRd s ule
SAAALHL YU BA9Y Hee
538

(B) oudsul ‘odelld 21ddl su’ ¥

59 eld, el |

sttt SHa elel el i 21

-

9
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64.

(A) Teaching g

According to communication theory

the
reproduction of knowledge

for

(B) A child has a Iot of inherent
capabilities

(C) A child develops interest from
within

(D) Knowledge is an external input

Find out the sentence having a

meaning nearer to -

“It is not the child but the teacher

who are Pre-equipped with

knowledge and skills at the time of
teaching.

(A) Teachers need to bring out the
knowledge hidden in the
children’s mind

(B) Before teaching, the teachers

have clear idea of the content

(C) All teachers must be well-
equipped in the methods and
techniques to generate

knowledge

(D) Teacher.s should utilize the

knowledge and skills of the

learner

Education—IIT
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64. Nl Rigid vz

65.

(A) AHBUUA g1R1 911w Yt:MoElsg

Yy £

(B) olUNSHL a5 i g TIEREN]
M3idl 8
(C) SUANSHL 24 Q5120 )] Ml 4]

ULY 19
D) st di olter o 0

R 1 93 Ay @) oo 4]
URd RESL o st AR Sluelel] ooy
Sld 877w [Qaiqd) 15l 2]
qlad disy e -

A) Rasid sin oungay ey

QUL S, o913 sleqle 6

(B) ey yd Ry ERDEENE]

U vYY ¢y B

(©) g A% 531 W2 %37] @iy
dell 2teniy, uglel] (3124 Ay
glal Bl

D) [uasial olagial s a9

sladia Guyioy] Qe A5t
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66. A juvenile delinquent is one who  66. o4 UJ,JLOlLQ MAal sl 9 % el

38 4 A) yed uRdl Al

A) An 1t offend
(A) adult oftenaer (B) 2218 pu el al3d

(B) An uneducated offender ;
) ouo »urLdl ST N

(C) A child offender
@) [Rl&ad el aldd

(D) An educated offender R
67. UBALHSAL [AsAraal el wylduil .

67. One of the proven techniques to

promote creativity 1s :
| A as-gleL

(A) Brainstorming

| (B) uatid?l
(B) Questioning '

©) Wt easll
(C) Role playing

(D) Buzz session (D)_. o AL
68. A dyslexic child is one who has 68. Sladslls AAS oo AL €4
problems in : . © :
(A) Counting of numbers A il auetdl
(B) Spellings of w.ords B) wosisll R seflil
(C) Grasping ..meanirllg of language (C) M-l ?:’L?I';_L ULl
(D) Speaking clearly (D) wyse GRALRBL
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69.

70.

71

The main objective of

mainstreaming disabled learners is

to :

(A) Facilitate them to participate
on par with other Jearners with
dignity '

(B) Make them intelligent learners

(C) Communicate with other

' colearners in school

(D) Arrest their dropout

Which one of the following is not

the quality of creative learners ?

(A) Unconventional

(B) Original

(C) Fluent

(D) Intelligent

Which of the following were set up
by upgrading the existing

institutions ?

(1) Colleges of Teacher Education

(2) Centre of Advanced Study in
Education

(3) ~Institutes of Advanced Study

in Education

(1) and (2)

(1) and (3)

(2) and (3)

(A)
(B)
(®)

(D) All (1), (2) and (3)

Education-III
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HEH GLUOLSIA HuH Al 1ML ASALl
Yoy g &d & 7

(A) wied AL A AAAYdS

apaflelR]l sraldl ylaar sadl
B) i ofzwsll AL o-tladl

(C) SUOUHE ARl 18 Sl

524l

D) uuL sl al-dl €3 g21sdl

A U4 sy ur-ula eddi-l
aparaL/agel Al ?

(A) [BuuLoLd

(B) Hilas

(C) ualledl

@) oifaall

3 U4 uadas $9 Aeudl sl
Geldst gLl 48 7

(1) CTE

(2) CASE

(3) IASE

(A) (1) 2 (2)
(B) (1) @1 (3)
(©) (2) 2 (3)

D) A8 (1), (2) ¥4 (3)
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72. Which of the following is not related 72. (285l add uRadq 08 13 14

to modification of teacher %L AoiBd ] ?

behaviour ? R .
(A) HLOs121A{[a1
(A) Micro-teaching

(B) edis 2o
(B) Block teaching

(C) Submission of lesson plan (€) US 2lYt Yuad 51

(D) Internship M) Sweslly

73. Academic Performance Indicator 73, «{|3 ¢ suy edAr G2 [Rewe-y

(API) for teachers of higher AEYLUSL IS BESMHS Ysizgy
education is introduced with a view 881323 (APD) elwd  $3qu3)
to : ‘

ey 7
(1) enhancing teacher

(1) (85 USR5 daelq w3
effectiveness

(2) using it for promotion of @) (2asil sedlq Guaial Hle

teachers (3) [aasi-l Ao axdidl Hqadq
(3) enhancing research level of e
teachers

(A) 1) 27 (2)
(A) (1) and (2)

o (B) (1) 24 (3)
(B) (1) and (3)

(C) (2) and (3) - (C) (2) ¥ (8)
Education—III 30




74, In India, orientation programmes 74, MHIzdHl G [l [Biast el

for the teachers of higher education AR dreart sl s A%

are organised by : gl 41y 6

A) Institute of Ad d Study i
(&) Institute of Advanced Study in (A) Institute of Advanced Study in

Education
Education

(B) Academic Staff Colleges
(B) Academic Staff Colleges

(C) Colleges of Teacher Education .
(C) Colleges of Teacher Education
(D) National Council for Teacher :
(D) National Council for Teacher

Education

Education
75. “A sound programme of professional

_ , _ 75. ‘luaRl oLRlics yalwl e
education of teachers is essential for

Y eremzme s [esiql vy el €4l
the qualitative improvement of

SR stdsu-l ilausdl 977 2 [Qa

This statement was made by :

(A) Radhakrishnan Commission (A) ANULEd oy

(B) Kothari Commission (B) fsﬁlé.lﬂ 4y

(C) Mudaliar Commission (C) Hadlu yy

(D) _Ram Murty Committee D) 2w Hy[d uldl
Education—III ; 3;1 [P.T.O.]
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ROUGH WORK
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